Grammar

6.Complete the third conditional sentences with the correct form of the
verbs in brackets.

1Ryan ______ (not be) late for the interview if he ___ (not miss) the bus.
2lfyou______ (wear) proper shoes,you ______ (not twist) your ankle.

3if we ______ (stay) on the main road, we ______ (not get) lost.

4She (drive) to work if there ______ (not be) so much traffic.

S5You __ (pass) your driving test if you ______ (remember) to look in the
mirror.

61f1 (not take) a guidebook, we ______ (not know) where to go.
7Zlifwe (go) by taxi, we _____ (arrive) by now.

8 They ______ (have) difficulty finding the street if they __ (not use) a
satnav.

7.Rewrite the underlined clauses as participle clauses.

1 The train that is arriving_ at platform 4 is the 9.30 to London Paddington.

2 My grandfather owns a vintage scooter, which was made in the 1960s.

3 The new uniforms, which the flight attendants have designed, look extremely
comfortable.

4 She left the bag which contained all of her travel documents on the coach.

5 Passengers who are travelling_to Manchester will need to change at
Birmingham New Street.

6 Tickets which are booked a month in advance have a 10% discount.

7 The three girls who were injured in the car accident have already been sent
home from hospital.

8 Commuters who wish to purchase a season ticket can apply for it online.
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